S5  &ml IN)—% Rd.1 d1P Rd2. Rd2P Rd.3 Rd3P Rd.4 Rd4P Rd.5 RSP &EtRAvk VU—XIERL
M1 AHF #th YhA*ETIA 0 1 20 0 0 0 20
Mi_ KB F— ZRILTYI KT IR K RATH 0 2 15 0 0 0 15

0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 0 0
M2  /DMIl BRIE  AZULBILS%260Z 1 30 0 2 15 3 12 0 57
M2 TH Bk  HYHAAAIS—TahF T 0 2 15 0 0 0 15
M2 FxE KZER TYRILALTIS 0 0 1 20 0 0 20
M2  dtE 2 BEI— 0 0 0 1 20 0 20
M2 SH FE TYRUMARL—HYTHStUh 0 0 0 2 15 NR 0 15

0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 0 0
M4 =HMH BB  AZULKCIFFEINRX 1 30 1 20 4 10 5 8 6 9 77
M4 HH FA RRSONY L F LIS H— 2 23 2 15 1 20 0 2 23 81
M4 R IEA BAER=ET1—5—5 H%— 3 18 3 12 6 6 0 0 36
M4 FHFHE FA FMSKIE =42 TLyy Yt 4 15 9 2 10 1 10 1 9 3 22
M4 HEE EE RSI/\YL 524 —7035 5 12 5 8 9 2 4 10 4 15 47
M4 KE B HBERATILyY 6 9 6 6 3 12 6 6 0 33
M4 NER ORI IFERFILAALTLYY 7 6 10 1 11 0 8 3 8 4 14
M4 5 KEERFALTLvY 8 4 8 3 8 3 9 2 3 18 30
M4 tEH ERE KIFFE=RF)IDLA>TLyH NR 0 4 10 0 7 4 0 14
M4 JbiE TEE IFFzRSTKEMNESH— NR 0 11 0 0 0 10 2 2
M4 LR FAWE B AL AN KT —E—R1 0 7 4 0 0 7 6 10
M4 i BE TYIRILSY— 0 0 2 15 0 0 15
M4 IR BT RSINYIDLSUH—6 0 0 5 8 0 0 8
M4 HE ME 2 AY3GDBAY Ty 0 0 7 4 0 0 4
M4 KHE ER 12 TLvy 0 0 R 0 2 15 5 12 27
M4 EHEF EABR SKTZ 4 — 0 0 0 1 20 1 30 50
M4 BBF 1BE GHROERTSA>TLvH 0 0 0 3 12 0 12
M4 FEE A IFFREFILALEY=HGC8 0 0 0 11 0 0 0
M4 #FiH BRHhE RSONYIILEETIUY— 0 0 0 12 0 11 0 0

0 0 0 0 0 0

0 0 0 0 0 0

EX2 FH EE {IFf-RSTKXDLATT S 2 23 3 12 1 20 1 20 1 30 105
EX2 #E X AZULASS5—Sa K TR T 1 30 4 10 0 0 0 40
EX2 TR B AZULOINABEHEAVTR 3 18 2 15 0 0 0 33
EX2 #HF X+ DLAIE=a1—5v o4 TS 0 1 20 0 0 0 20
EX2 {EBE =& KSI7HR)—="35—>a ! 0 5 8 0 0 2 23 31

0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0

EX4 it HZ  ARRARRR—YSH—HZ 1 30 0 1 20 0 0 50
Ex4 2% & P EREYHMROZS 4 — 2 23 3 12 0 0 3 18 53
EX4 & IE RZARRR—YAAASo9—3 3 18 2 15 0 1 20 2 23 76
Ex4 HE Z {[FF=RSTKADLSH— 4 15 5 8 2 15 5 8 6 9 55
EX4 B f#— RSON\YL 54 —703% 0 1 20 0 0 0 20
EX4 ®BA #—  Raschov¥— 0 4 10 0 0 0 10
EX4 HEE R {IXF=RSTKS>H— 0 6 6 0 6 6 7 6 18
Ex4 BH —5 (I BABEEES H— 0 NR 0 0 4 10 0 10
EX4 T8 RE SKTIZAATLYHEro I 0 0 0 2 15 0 15
EX4 FE #th  SKTS H— 0 0 0 3 12 0 12
EX4 HX & SABBES Y — 0 0 0 R 0 NR 0 0
Ex4 dR EEA ABSHIRYHS V4 — 0 0 0 0 1 30 30
Ex4  BE)Il EAI HL—CREINSV Y — 0 0 0 4 15 15
EX4 ‘EpE B HERAZULSY—6 0 0 0 0 5 12 12

0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0




